Part #: 1421 Part #: 1421E25W

(package of 4 screws & 4 (package of 25)

metal cup washers) Part#: 1421E100W
(package of 100)

- 10-32 x 0.625"

- Slotted oval head screws

- Steel cup washers (0.60"
outside diameter)

« Nickel plated

» Metal cup washers

» 0.60" outside diameter

» Use with 10-32 countersunk
screws

* Nickel plated

Part#: 1421A Part #: 1421A25W

(package of 4 screws & 4 (package of 25)

plastic cup washers) Part #: 1421A100W
(package of 100)

+10-32 x 0.625"

« Slotted & phillips combina
tion oval head screws

* Nickel plated screws

- Black plastic cup washers
» 0.58" outside diameter
» Use with 10-32 countersunk

- Black plastic cup washers screws
(0.58" outside diameter)
Part#: 1421A25B Part #: 1421B

(package of 4 screws & 4
nylon washers)

(package of 25)

Part #: 1421A100B

(package of 100)

+10-32 x 0.5" thumb screws

» With captivated nylon
washers

* Nickel plated

» Works with panels up to

+10-32 x 0.625"

« Slotted & phillips combina
tion oval head screws

« Nickel plated

0.09" thick
* Head is 0.62" dia. x 0.37"
high
Part #: 1421F25 Part #: 1421D
(package of 25) (package of 25)
+10-32 x 1.25" -10-32 x 0.5"

« Slotted & phillips
combination pan
head screws

- Use where economy
is important OR for
close panel spacing.

* Phillips oval head screws
« Nickel plated

* Zinc plated
Hammond Manufacturing Co. Ltd. ", Hammond Manufacturing Co. Inc. 119
394 Edinburgh Rd. North ‘907/)70 256 Sonwil Dr.
Guelph, Ontario N1H 1E5 CANADA "‘707;:90 Cheektowaga, NY 14225 USA
“g Phone: 519-822-2960 Fax: 519-822-0715 97 Phone: 716-651-0086 Fax: 716-651-0726



o
D
i
o
7]
7
&L
&)
&)
<L

Part #: H1224520
(package of 20 screws)

- 12-24 x 5/8"

« Slotted & phillips combina
tion pan head screws

« Zinc plated

- Used mainly on our
aluminum open relay racks
(RRAL series)

Part #: 1421N25

Part #: 1421CNC25
(package of 25)

Part #: 1421CNC100
(package of 100)

+12-24 cage nuts

* USE ON SQUARE HOLE
PUNCHED RAILS ONLY

> Has the holding strength of
a 12-24 nut

« Zinc plated

Part #: 1421CNB25

(package of 25) (package of 25)
Part #: 1421N100 Part #: 1421CNB100
(package of 100) (package of 100)

+10-32 clip nuts

* USE ON ROUND HOLE
PUNCHED RAILS ONLY

 Has the holding strength of
a 10-32 nut

« Black finish

Part #: 1421NP25
(package of 25)

Part #: 1421NP100
(package of 100)

+10-32 clip nuts

* USE ON ROUND HOLE
PUNCHED RAILS ONLY

 Has the holding strength of
a 10-32 nut

« Zinc plated

Part #: 1421CNA25
(package of 25)

Part #: 1421CNA100
(package of 100)

+10-32 cage nuts

» USE ON SQUARE HOLE
PUNCHED RAILS ONLY

- Has the holding strength of
a 10-32 nut

« Zinc plated

- M6 cage nuts

* USE ON SQUARE HOLE
PUNCHED RAILS ONLY

> Has the holding strength of
a M6 nut

« Zinc plated

Part #: RCNIT
(cage nut insertion tool)

-+ Allows for easy installation
of cage nuts in square rail
hole

- Spring steel tool

Part #: 1463S
(package of 3 bolts, spring
nuts & washers)

- 3/8 x 16 spring loaded nuts
(for Rack "C" channels)

= 0.75" hex head bolts &
washers

- used to mount one rack rail
(used in racks with Amhal
strut rail mounting)

Hammond Manufacturing Co. Inc.

1

N

O‘" Hammond Manufacturing Co. Ltd. "”bzq,,%
394 Edinburgh Rd. North e’b/,,o 256 Sonwil Dr.
"O'/;,f

Guelph, Ontario N1TH 1E5 CANADA B Cheektowaga, NY 14225 USA
“g Phone: 519-822-2960 Fax: 519-822-0715 97 Phone: 716-651-0086 Fax: 716-651-0726



@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

